
Applikationer

SC11 SC12

SC1 SC2

SC3 SC4

M6*4M6*28

M6*28M8*40

M8*65

M6*12M8*25

M6*25M10*70

M6*45

SC5 SC6

SC7 SC8

SC9 SC10

Fästelement

M6*28

M6*28

M8*25

M8*65

M10*70

M8*40

M6*12

M6*25

SC11SC11

M6*45

M8*45

M6*30

Skivor

Svart  (10mm)

Svart  (10mm) Grå (3mm)

Vit  (20mm)

Vit  (8mm)

Grå (10mm)

på beställning 
(19mm)

Svart  (6mm)

på beställning 
(8mm) & (10mm)

PVC ( 1500 X 1200)mm PEHD ( 1500 X 1000)mm

MDF ( 1400 X 1000)mm TRIPLEX (2400 X 2100)mm

RESISCAL (3050 X 1300)mm

SL300SL200 SL400

MR300 MRTR

MRE1 MRE2

MRH SHST

SHSP SHSI

Special  Delar

SHSPSHSPSHSP SHSISHSISHSI

HK1 HK2

SL300SL200 SL400

UTDRAGSSKENOR

GASDÄMPARE

FOTBROMS BORSTHJUL

GASDÄMPARE

BORSTHJUL

DOKUMENT KLÄMMMA

BORSTA

PLOCKVAGN

KITVAGNAR

MATERIALTÅG

ARBETSSTATIONER

FLOW RACK

TMF TMR

BQ BQC

BQFT BQX

STBL STBR STTR

STTL STSW

BQ400

BQ160YR BQ160SYR BQ160SBYR

BQ160YF BQ160SYF BQ160SBYF

BQ160 BQ160S BQ160SB

BQFK

BQ160GR BQ160SGR BQ160SBGR

Chassi

BQ400BQ400BQ400

TMFTMFTMF

Chassi

FT1 FT2 FT3

PTS

PTRPTL

WB

T75 T75B

T100 T100B

P125YF P125SYF P125SBYF

P100 P100S P100SB

P125 P125S P125SB

P125GR P125SGR P125SBGR

Hjul  & Plattor



Kopplingar

JR JR33

JRL JRD

JRS JRS33JRS JRS33

JRX JRA

JR+R400+JRL+SIDOGUIDER

JRA + JR /  JRS /  JRL /  JRD

Fästen

JBT JB180

JB270 JB90

JBT2 JBX

JB90R

JBH JBHA+JBHB

JBS3

JBS2JBS1

JBS4

JBA1 JBA2 JBA3

JBI

JB30 JB45 JB60

CP CV

PLH SLB

LB2HLB1 LB2S40

P200RTR P200RBK

Til lbehör

v

R400 R400DRS400

RGC40W

RGL1040WRGL4040W

RBK

RD60RD50 RD80

Rull ister  & Kantl ister

Ø 28 -  28,6Ø 28 -  28,6

BENDED PIPESBENDED PIPES

STEEL (28,6 X 1  Ø 28.6X2 )

Rör

Vit

på beställning

Silver anodized

Black anodized

Grå

Svart 28,6 X 1  

ALUMINUM (28 X 1 .5 Ø 28X2.5 )

STÅL RÖR (28,2 X 1  Ø 28.2X2 )

plastbeläggning standardfärger

D e t  e n d a  K O M P A T I B L A
s o r t i m e n t e t  a v  f ä s t e n  f ö r
S T Å L  &  A L U M I N I U M R Ö R
m e d  e n  y t t e r d i a m e t e r  a v
2 8 - 2 8 , 6 m m

ESD kompatibelt
på för f rågan.

KOPPLINGAR

w w w . i n d e v a . s e
i n f o @ s e . i n d e v a g r o u p . c o m

+ 4 6  ( 0 )  4 2  -  4 0 0  2 4  6 0  

© C o p y r i g h t s


